13210128, 1371012y

Ocuunnorpaduyeckune TpyoKku. NpeaHasHavyeHbl A8 BU3yasibHOM peructTpaumm
BbICOKOYACTOTHbIX NpoueccoB. IKpaH 13/1012B - *kento-opaHKeBoro ceeyeHuna, 1371012y
- 3e/IeHOro ceeyeHua. AamtenbHOCTb nocnecsevyeHnA skpaHa 13/1012B - He meHee 2
MUH, 13/71012Y - He 6onee 0,01 c. ObopmneHme - CTeEKNAHHOE, C Lokonem (PLL10).
[JonroseyHocTb He meHee 500 4. Macca He 6onee 1,5 Kr.
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OcHOBHble NapameTpbl
HomuHanbHblE
du,a, MM B, Kﬂ./MZ Sl,Z; MM/B 53,4; MM/B Ual; B UaZ; KB UaS; KB UM.3an.; B
<0,6 >20° 0,6...0,84 1,0..1,4 <300 1,2 4,8 -40+ 20
AUy, B lym, MKA lykn, MKA la2, MKA Us, B I, MA
<35 <5 <30 <400 6,3 600t 60
NMpepenbHO gonycTtumble
npeﬂ,eﬂbl UH, B Um, B UKH} B Ua]_, B Uaz, KB U331 KB RM’ MOM
MWH 5,7 -125 -135 - 1 2 -
MaKC 6,9 0 0 1000 2 8 1,5

MexXayanekTpoaHble eMKocTu, Nd:
Cuz<9; Cz<£8; Cu1,1254; Ca1z £10; Cp3, pa < 3,5; Co3x < 8.
TOK cnnupanbHO NOKpbITHUA = 52 MKA.

*Nna 13/1012Y B = 30 mkBT/cm?-cTep.




